INSTALLATION INSTRUCTION

1 _J1®[RIGID| |
MJEX T ge{*]| B INSTALLER: GIVE THIS INSTRUCTION TO VEHICLE OWNER

CLASS Il TRAILER HITCH
P-100

5000 LB GROSS TRAILER WEIGHT
500 LB TONGUE WEIGHT

WARNING: CONSULT VEHICLE OWNERS MANUAL FOR
TOWING RECOMMENDATIONS AND LIMITATIONS. THIS
PRODUCT IS DESIGNED FOR TRAILER TOWING ONLY
AND SHOULD NOT BE USED FOR-ANY OTHER PURPOSE.

WARNING: DO NOT USE AS A WEIGHT DISTRIBUTING HITCH OR EXCEED YOUR VEHICLE’S
TOWING CAPACITY OR BUMPER RATING.

NOTE: THIS HITCH IS DESIGNED TO FIT STEP BUMPERS WITH A FLAT CENTER PLATE WTIH
8 TO 9 INCH HOLE CENTERS (OR MODELS THAT CAN BE DRILLED).

MOUNT THE HITCH TO THE VEHICLE AS FOLLOWS:

(A) USING THE 3/4" BOLTS PROVIDED, MOUNT THE HITCH PLATE TO THE BOTTOM LEDGE OF THE
BUMPER CENTER PLATE USING THE EXISTING 3/4" OR 1" HOLES. ON MODELS THAT HAVE A
LIP ON THE CENTER PLATE, USE THE 3/4" THICK SPACERS PROVIDED BETWEEN THE HITCH
AND THE BUMPER. SOME MODELS WILL REQUIRE ONE 3/4* FLAT WASHER AS AN ADDITIONAL
SPACER ON EACH BOLT. (FOR FORD FACTORY BUMPERS AND OTHERS WITH NO EXISTING
HOLES, TWO 3/4" HOLES MUST BE DRILLED WHERE THE HITCH PLATE LINES UP CENTERED).
MODELS WITH 1" HOLES REQUIRE TWO 3/4" FLLAT WASHERS PROVIDED BE USED OVER THE

HOLES.

NOTE: FOR SOLID FLAT PLATES THAT REQUIRE NO SPACERS, THE 3/4" BOLTS PROVIDED MAY
BE REPLACED WITH SHORTER GRADE 5 BOLTS TO ELIMINATE EXCESS BOLT UNDER THE -

HITCH PLATE.

((B) MOUNT THE FRONT END OF THE HITCH PLATE BY DRILLING TWO 1/2* HOLES WHERE SPACE -

ALLOWS THE ATTACHMENT TO BE MADE.

USE THE NECESSARY SPACER PLATES PROVIDED

TO LEVEL THE HITCH. TWO OF THE 1/2" BOLTS WILL NOT BE USED, AND ALL SPACER PLATES
MAY NOT BE REQUIRED TO COMPLETE THE INSTALLATION.

TIGHTEN ALL FASTENERS T0 THE TORQUE SPECIFICATIONS SHOWN BELOW.

BOLT TIGHTENING TORQUE (LB-FT)

BOLT SIZE TORQUE BOLT SiZE TORQUE
3/8" - 25 LB FT 8 MM 20 LB FT
7/16" 50 LB FT 10 MM 38 LB FT
1/2" 60 LB FT 12 MM 68 LB FT
3/4" 120 LB FT ]

THIS PRODUCT COMPLIES WITH SAFETY
SPECIFICATIONS AND REQUIREMENTS FOR SAE AND
VESC REGULATION V-5 FOR CONNECTING DEVICES AND
TOWING SYSTEMS.

DO NOT MODIFY THIS PRODUCT. INSTALL ONLY ON
SPECIFIED VEHICLES IN GOOD CONDITION.

RIGID HITCH INC. - 3301 W BURNSVILLE PKWY - BURNSVILLE fIN 55337




